12:29-14 | BROOMFIEI.D, CO

DISC ONE

SET ONE

01 ‘ROUND THE WHEEL 17:10
02 SIRENS> 613

03 THESE WAVES> 9:06

04 DJIBOUTI BUMP> 7:40

05 BUMPIN’ REEL 12:19

06 OUTSIDE AND INSIDE> 7:48
07 DIRK> 3557

08 GET DOWN ON IT> 6:28
09 DIRK 1:42

DISC TWO

SET TWO

01 COLLIDING 15:30

02 SO FAR FROM HOME> 810

03 WHEEL HOSS 4:45

04 UNTIL THE MUSIC’S OVER> 1135
05 IT IS WHAT IT IS 12:40

06 YOU'VE GOT THE WORLD 710

DISC THRERE
01 LOOKING GLASS> 7:39

02 DISCO BALL JAM> 13552

03 SHINE 15:33

ENCORE

04 BEAUTIFUL 822

12:29-14 | BROOMFIEL.D, CO

01 ‘ROUND THE WHEEL 17:10
02 SIRENS> 6:13

03 THESE WAVES> 9:06

04 DJIBOUTI BUMP> 7:40

05 BUMPIN’ REEL 12:19

06 OUTSIDE AND INSIDE> 7:48
07 DIRK> 3:57

08 GET DOWN ON IT> 628

09 DIRK 1:42

01 COLLIDING 15:30

02 SO FAR FROM HOME:> 810

03 WHEEL HOSS 4:45

04 UNTIL THE MUSIC’S OVER> 11:35
05 IT IS WHAT IT IS 12:40

06 YOU'VE GOT THE WORLD 710

DISC THRER
01 LOOKING GLASS> 7:39

02 DISCO BALL JAM> 13552

03 SHINE 15:33

ENCORE

04 BEAUTIFUL 822

results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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